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NEW QUESTION 1

Given:

public static vold main(Stringl[] args) |
String ta = "A ";
ta = ta.concat ("B ") ;
Stirrng £h = HC M

ta = ta.concat (th)

ta.replace (TCT, TDT);

ta = ta.concat (th)

System.out.println (ta) ;
1

What is the result?

A.ABCD
B.ACD
C.ACDD
D.ABD
E.ABDC

Answer: C

NEW QUESTION 2
Given the content of three files:

A.java:

public class A {
public void af() {}
int a;

B.java:

public class B |
private int doStuff () ({
private int x = 100;
return XH++:;

C.java:

import java.io.*;
package pl:
class A |
public woid main(String fileMName) throws IOException { }

}

Which statement is true?

A. Only the A.Java file compiles successfully.
B. Only the B.java file compiles successfully.
C. Only the C.java file compiles successfully.
D. The A.Java and B.java files compile successfully.
E. The B.java and C.java files compile successfully.
F. The A.Java and C.java files compile successfully.

Answer: A

NEW QUESTION 3
You are asked to develop a program for a shopping application, and you are given this information:

> The application must contain the classes Toy, EduToy, and ConsToy. The Toy class is the superclass of the other two classes.
> The int calculatePrice (Toy t) method calculates the price of a toy.

> The void printToy (Toy t) method prints the details of a toy.
Which definition of the Toy class adds a valid layer of abstraction to the class hierarchy?
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A
public absztract class Toy/{
public abstract int calculatePrice (Toy t);
public volid printToy (Tey t) { /* code goes here */ }
i
B
public abstract class Toy |
public int calculatePrice (Toy t) :
public wveid printToy (Toy t)
!
C
public abstract class Toy |
public int calculatePrice (Toy t):
public final wveid printToy (Tey t)f{ /* code goesz here */ |}
!
D
public abstract class Toy |
public abstract int calculatePrice(Toy t) { /* code goes here */ 1}
public abstract weid printTey(Toey t) { /* code goes here */ )
!
A. Option A
B. Option B
C. Option C
D. Option D
Answer: A

NEW QUESTION 4
Given the code fragment:

LocalDate Time dt= LocalDateTime.of (2014, 7, 31, 1, 1):
dt.plusDays (30):

dt. plusMonths (1):

System.out.print (dt format (DateTimeFormatter. ISO_DATE)

What is the result?

A. An exception is thrown at runtim
B. 07-31-2014
C. 2014-07-31
D. 2014-09-30

Answer: A

NEW QUESTION 5
Given this code for a Planet object:
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public class Planet |
public String name;
public int moons;

public Planet (String name, int moons)
this.name = name;
this.moons = moons;

And this method:

public static wold main(String[] args) {
Planet[] planets = {
new Planet ("Mercury”, 0),
new Planet ("Venus", 0),
new Planet ("Earth", 1),
new Planet ("Mars"”, 2)
}i

System.out.println(planets) ;

System.out.println(planets[2].name) ;

System.out.println(planets([2].moons) ;
}

What is the output?

A
planets
Earth
1

B
[LPlanet=s.Planet; @3154kL9742
Earth
1

C
[LPlanets=.Planst; @15dkL2742
Planets. Planetladiadayc
1

O
[LPlanet=. Planet ;315409742
Planets. Planest@adiadeYc
[LPlansets . Moon; @7/852=922

E
[LEPlanets=s. Planet ;15409742
Wanus
O

A. Option A

B. Option B

C. Option C

D. Option D

E. Option E

Answer: C

NEW QUESTION 6
Given the code fragment:
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public static vold main(Stringl[] args) |
Short =1 = 2Z00;
Integer g2 = 400;
Long =3 = (long) =1 + =22; Ffline nl
String =4 = (String) (=23 * =2); filine nZ
System.out.println("Sum iz " + =4);

}

What is the result?

A. Sum is 600

B. Compilation fails at line nl.

C. Compilation fails at line n2.

D. A ClassCastException is thrown at line n1.
E. A ClassCastException is thrown at line n2.

Answer: C

NEW QUESTION 7
Given the code fragment:

public static void main(String[] args) {
int data[] = {2010, 2013, 2014, 2015, 2014%;
int key = 2014;

int count = 0;
for (int e: data) {
if (e !'= key) |

continue;
count++;
}
i
System.out.print (count + " Found"):;
}
What is the result?

A. Compilation fails.
B. 0 Found
C. 1 Found
D. 3 Found

Answer: A

NEW QUESTION 8
Which two class definitions fail to compile? (Choose two.)
B

abstract class A3 {
private static int i;
public wvoid doStuff () {}
public A3(){}

final class Al {
public Al(){}

private class A2 {
private static int i;
private A2() {}

class A4 {
protected stat
private A4 () {
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E
final abstract class A5 {
protected static int i;
void destuff () {}
abstract void dolIt();
}
A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
Answer: CD

NEW QUESTION 9
Which statement is true about the switch statement?

A. It must contain the default section.

B. The break statement, at the end of each case block, is mandatory.
C. Its case label literals can be changed at runtime.

D. Its expression must evaluate to a single value.

Answer: D

NEW QUESTION 10
Given:

class
pub

&
System.out.println (“A"):

System.out.println (“B"):

public class C extends A |

]

public void test ()

Carot o e - 7w W
System.out.println (“C"):

public static wvoid main (String [] args) |
A bl = new A ()
A b2 = new C ();
Bl = (A) b2: //line nl
A b3 = (B) b2; f/line n2
bl.test ()

)
L
.
L-.
[{1]
L
it
S
2

What is the result?

A. AB
B. AC
C.CccC
D. A ClassCastException is thrown only at line n1.
E. A ClassCastException is thrown only at line n2.

Answer: B

NEW QUESTION 10
Given the code fragment:
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antin Il Bl = {41, 3), 42, 4 k)
for {(int i = n.length-1; 1 >= 0; 1——} {
for' iant v:3 nlil) 4

System.out.print (vy};

gt

What is the result?

A. 1324
B. 2313
C. 3142
D. 4231

Answer: D

NEW QUESTION 15
Given:

public class MyClass

public static void main(String[] args)
String s = "Java SE 8 1";
int len = s.trim() .length() ;
System.out.print (len) ;
H
}
What is the result?
A. Compilation fails.
B. 11
C.8
D.9
E. 10
Answer: B
NEW QUESTION 18
Given the code fragment:
public class Emploves |
String name;
boolean contract;
double =salary;
Enployes () |
/4 line nl
1
PObl e St b Bast Aty
return name + ":" + contract + ":" 4+ =alary;

}

public static void maini{String[] args) {
Employes & = new Emploves () ;
I{ line n2
Syvstem.out. print (e) ;

}

Which two modifications, when made independently, enable the code to print Joe:true: 100.0? (Choose two.)
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O &) Replace 1ine nZ with:
e, name = "Joe™;
e.contract = tLrue;
e.galary = 100;

O B) Replace 1ine nZ with:
thisg.name = "Joe";
this.contract = true;
this.zalary = 100;

U C) Replace 1ine nl with:
thizg.name = new String("Joe");
thiz.contract = new Eoolean(true) ;
this.sgalary = new Double (100) ;

O D) Replace 1ine nl with;
name = "Joe™;
contract = TRUE;
galary = 100.0f;

O E) Replace 1ine nl with:
thi=z ("Joe", trues, 1007 ;:

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: AC

NEW QUESTION 22
Given:
interface Readable |
public void readBook ()
public void zetBookMark () :
h

abztract clasz Book implements Readable | f4 line nl
public veoid readBook () { 1}
£/ line nZ

h

clas=s EBook extends Book | if ine n3
public veoid readBook () { 1}
A/ line nd

}

And given the code fragment: Book bookl = new EBook(); book1.readBook();
Which option enables the code to compile?

~ A) Replace the code fragment at 1ine nl with:
class Book implements Readable |

© B) At line nZ2 insert;
public abstract void setBookMark();

) Replace the code fragment at line n3 with:
akbsztract «lass EBook extends Bool |

D) At 1line n4 insert:
public wvoid sgetBookMark() {

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 23
Given the code fragment:
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LocalDateTime dt = LocalDateTime.of (2014, 7, 31, 1, 1);
dt.plusDays (30} ;

dt.plusMonths (1) ;

System.out.println{dt.format (DateTimeFormatter.IS0O DATE TIME));

What is the result?

A. An exception is thrown at runtim
B. 2014-07-31T01:01:00

C. 2014-07-31

D. 2014-09-30T00:00:00

Answer: B

NEW QUESTION 28
Which statement is true about Java byte code?

A. It can run on any platform.

B. It can run on any platform only if it was compiled for that platform.

C. It can run on any platform that has the Java Runtime Environment.

D. It can run on any platform that has a Java compiler.

E. It can run on any platform only if that platform has both the Java Runtime Environment and a Java compiler.

Answer: D

Explanation:

Java bytecodes help make "write once, run anywhere" possible. You can compile your program into bytecodes on any platform that has a Java compiler. The
bytecodes can then be run on any implementation of the Java VM. That means that as long as a computer has a Java VM, the same program written in the Java
programming language can run on Windows 2000, a Solaris workstation, or on an iMac.

NEW QUESTION 29
Given:

interface I {
public void displavyI():
}
abstract class C2 implements I {
public wvoid displayC2 ()
System.out.print ("C2")

]

}
class Cl extends C2 {
public void displayI() {
System.out.print ("Cl");

H

And the code fragment:

I obj2 = new C1l

t.displayI():
s.displayC2 () ;
What is the result?
A. C1C2
B.C1C1
C. Compilation fails.
D. C2C2

Answer: A

Explanation:
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= lund
[ sre

4
Console 1 Console 2
ClC2
Completed with exit code: 0

NEW QUESTION 32
Given the code fragment:
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interface I {
public void displayI();
}
abstract class C2 implements I {
public void displayC2() {
System.out.print("C2");
}
}
class Cl extends C2 {
public void displayI() {
System.out.print("Cl");
}

}

public class App (

public static void main(String[] args) {

C2 objl = new Cl();
I obj2 = new Cl();

C2 s = (C2) obj2;
It = objl;

t.displayl();
s.displayC2();
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abstract clas=s Planet |
protected void revolwe ()

}

ab=ztract wvold rotate () ;

clazss Earth extends Planet |
vold revolwve ()

}

protected wvoid rotate() |

}
;

Jiline

Filine

Filine

Filine

nl

nZ

n3

nd

Which two modifications, made independently, enable the code to compile? (Choose two.)

A. Make the method at line n1 public.
B. Make the method at line n2 public.
C. Make the method at line n3 public.
D. Make the method at line n3 protected.
E. Make the method at line n4 public.

Answer: CD

NEW QUESTION 33
Given:

Base.java:

class Base |
public void test(}{
System.out.println("Base ");

DerivedA.java:

class Derivedz extends Base |
public void test(){
System.out.println("Deriveda "} ;

DerivedB.java:

class DerivedB extends Deriveda |
public wvoid test(){
System.out.println("DerivedB ") ;
}

public static void main(String[] args)

I 0

Base bl new DerivedB () ;
Base b2 = new Derivedal();
Base b3 = new DerivedB();

Base b4 = b3;
bl = (Base) b2Z;
bl.test {):
bd.test ()

}

What is the result?
A. BaseDerivedA
B. BaseDerivedB
C. DerivedBDerivedB

D. DerivedBDerivedA
E. A ClassCastException is thrown at runtime.

Answer: D

NEW QUESTION 37
Given the code snippet from a compiled Java source file:
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public cla=zs MyFile
{
public static void main (String[] args)
{
String argl = args[1];
String argl = args[Z];

String argl args[3];

System.cut.println(“Arg is ™ + arg3l);

}

Which command-line arguments should you pass to the program to obtain the following output? Arg is 2

A. java MyFile 132 2
B. java MyFile 2 2 2
C.javaMyFile12234
D. java MyFile012 3

Answer: A

NEW QUESTION 38
Given the code fragment:

public static void main(String[] a
LocalDate date = LocalDate.of(
date.plusDays (10) ;
System.out.println(date) ;

f

What is the result?

A. 2012-02-10

B. 2012-01-30

C. 2012-02-10 00:00

D. A DateTimeException is thrown at runtime.

Answer: C

NEW QUESTION 39

Given the code fragment:

public static void main(String[] args) {
String myStr = "Hello World ™;
myStr.trim() ;
int il = myStr.indexOf (™ ");
System.out .println (il);

}

What is the result?

A. An exception is thrown at runtime.
B.-1

C.5
D. 10

Answer: A

NEW QUESTION 41
Which two code fragments cause a compilation error? (Choose two.)

A. float flt = 100.00F;

B. float flt = (float) 1_11.00;

C. Float flt = 100.00;

D. double y1 = 203.22;float flt = y1;
E. int y2 = 100;float flt = (float) y2 ;

Answer: AD

NEW QUESTION 46
Given:
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class Test {

public static void main (String

int numbers [ ]:

numbers = new int [2]:
numbers [0] = 10;
numbers [1] = 20;
numbers = new int [4]:
numbers [2] = 30;

numbers [3] = 40;
for (int x : numbers) {
System.out.print ("

[—

What is the result?

A. 1020 3040

B.00 3040

C. Compilation fails.

D. An exception is thrown at runtime.

Answer: C

NEW QUESTION 48
Given:

public clas=ss Test |

int x, v;

public Testiint =, int y) |

initializs(x, ¥y);

public void initialize(int =, int y) {
this.x = = * =;

thiz.y = y * y;

public static voilid main(String[] args)
int = = 3, v = 5;
Test cbj] = new Test(x, v);
System.cut.println{x + “ ™ + y);

}

What is the result?
A. Compilation fails.
B.35

C.00

D.925

Answer: B

NEW QUESTION 49
Given:
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public class Test
public static vold main(Stringl] args) |
Test t3 = new Tesat();
AL

) F

System.out.print (isAvailable + ™
iskvailakle= ts.doStuff();
System.out.println(ishvailable) ;

'

public static boolsan doStuff ()
return lisAvailakls;

'

static boolean ishvailakle = false;

}

What is the result?

A. Compilation fails.
B. false true

C. true false

D. true true

E. false false

Answer: B

NEW QUESTION 51
Which three are advantages of the Java exception mechanism? (Choose three.)

A. Improves the program structure because the error handling code is separated from the normal program function
B. Provides a set of standard exceptions that covers all possible errors

C. Improves the program structure because the programmer can choose where to handle exceptions

D. Improves the program structure because exceptions must be handled in the method in which they occurred

E. Allows the creation of new exceptions that are customized to the particular program being created

Answer: ACE

NEW QUESTION 56
Given:

class Caller
private wvoid init ()
System.out.println (™Initialized”);

private wvoid start ()

init () ;
System.out.println(“Started”);
}
}
public class TestCall {
public static void main(String[] args)
Caller c — new Caller{);
c.start () ;
c.init () ;
}
}

What is the result?

A. An exception is thrown at runtime.
B. InitializedStartedInitialized

C. InitializedStarted

D. Compilation fails.

Answer: D

NEW QUESTION 60

Which statement best describes encapsulation?

A. Encapsulation ensures that classes can be designed so that only certain fields and methods of an object are accessible from other objects.
B. Encapsulation ensures that classes can be designed so that their methods are inheritable.

C. Encapsulation ensures that classes can be designed with some fields and methods declared as abstract.

D. Encapsulation ensures that classes can be designed so that if a method has an argument MyType X, any subclass of MyType can be passed to that method.

Answer: A
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NEW QUESTION 61

Which two statements are true? (Choose two.)

A. Error class is unextendable.
B. Error class is extendable.

C. Error is a RuntimeException.
D. Error is an Exception.

E. Error is a Throwable.

Answer: BC

NEW QUESTION 62
Given the code fragment:

LacalDate datel
LocalDate datead

System.out.println("datel
Syztem.out.println("dates
System.out.println("dated =

Assume that the system date is June 20, 2014. What is the result?

A
datel = Z014-06-20
dated = Z014-06-20
date3 = Z014-06-20
B

datel = 06/20/2014
date?Z 2014-06-20
date3 = Jun 20, 2014

C  Compilation fails.

L)

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 66

LocalDate, nowi) ;
LocalDate.of (b, 20, 2014 ) ;
LocalDate dated = LocalDate.parse ("2014-0&8-20",

" + datel):

+ datel):
+ date3);

An exception is thrown at runtime.

DateTimeFormatter. IS0 DATE) ;

Which three statements describe the object-oriented features of the Java language? (Choose three.)

A. Objects cannot be reused.

B. A subclass must override the methods from a superclass.
C. Objects can share behaviors with other objects.

D. A package must contain a main class.
E. Object is the root class of all other objects.

F. A main method must be declared in every class.

Answer: BCF

NEW QUESTION 71

Which statement will empty the contents of a StringBuilder variable named sb?

s
deleteAll ();
S
d

A
B.
C.
D. delete (0, s
E.size ());
F.s
G. delete (0, s
H. length () );
I.s

J. removeAll ();

Answer: C

NEW QUESTION 74
Given the code fragment:
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int numsl[] = {1, 2, 3};

int numsZ[] = {1, 2, 3, 4, 51;

nums 2 = nums 1;

for (int = : nums2){
Svstem.out.print {x + ":");

i

What is the result?

A. 1:2:3:4:5:

B. 1:2:3:

C. Compilation fails.

D. An ArrayOutOfBoundsException is thrown at runtime.

Answer: A

NEW QUESTION 76
Given:
class Vehicle |
int x;
Wehicle ()
thi=z(10); // line nl
i
WVehicle (int =) |
thi=z.x = =;

}

class Car extends WVehicle |
int v;
Cari) {
super () ;
thi= (207 ; /4 line nZ
H
Car (int ) |
this.y = v;
H
public String to Stringl) |
return super.x + ":" 4+ this.y;

'
And given the code fragment:
And given the code fragment;

Wehicle v = new Cari);
gystem.out.println(yv);

What is the result?

A. 10:20

B. 0:20

C. Compilation fails at line n1
D. Compilation fails at line n2

Answer: D

NEW QUESTION 78
Given the code fragment:
if {avar++ < 100 |
Svstem.out.printlniavar + " Hello Universel™);
boelse |
Svstem.out.printlniavar + " Helloc Worldl™);
1

What is the result if the integer avar is 9?
A. Compilation fails.

B. 10 Hello Universe!

C. 10 Hello World!

D. 9 Hello World!

Answer: B

NEW QUESTION 83
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Which three statements are true about the structure of a Java class? (Choose three.)

A. A public class must have a main method.

B. A class can have only one private constructors.

C. A method can have the same name as a field.

D. A class can have overloaded static methods.

E. The methods are mandatory components of a class.
F. The fields need not be initialized before use.

Answer: ACE

NEW QUESTION 88
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